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15 ] VR e T 22 (X 12. 50 3.90 1. 00 2.30 100.0 0.0 0.0 100.0 100. O|HE7k MEA%E
0.0 0~ 0.0 59 6. 50 3.70 0. 50

15 ] VR4 ] T 22 (X 6. 50 4.30 0. 00 2.10 19.0 0.0 81.0 100.0 200. O|BEAK M Atk
0.0 59 ~ 0.1 62 6. 50 3.90 1. 00

15 ] VR ] T 22 (X 6. 25 5. 60 4. 50 0.70 92.5 0.0 7.5 100.0 300. O|BEA M Atk
0.1 62 ~ 0.2 64 6. 25 6. 60 1. 70

15 ] VR e T 22 (X 6. 50 5. 60 3.50 0.75 100. 0 0.0 0.0 100.0 400. O|BEAK M Atk
0.2 64 ~ 0.3 60 9. 50 4. 60 0.85

5 [t VR A T 22 (X 6. 50 5.90 6. 30 0.75 100. 0 0.0 0.0 100.0 500. O|BEA M Atk
0.3 60 ~ 0.4 62 6. 50 3.90 0.75

15 ] VR4 e T 22 (X 6. 50 3.50 3.00 0.75 100. 0 0.0 0.0 100.0 600. O|BEA M Atk
0.4 62 ~ 0.5 60 9. 50 5. 50 1. 00

15 [t VR e T 22 (X 9.50 5.20 3.00 1. 50 85.5 0.0 14.5 100.0 700. O|PEAK M Atk
0.5 60 ~ 0.7 20 6. 50 3. 60 1. 50

5 ) VLA T T P 2 X 9. 50 2.80 3. 00 1.50 100.0 0.0 0.0 100.0 800. O|HEA A2
0.7 20 ~ 0.8 1 6. 50 7.50 1. 50

5 e VLA T T P 2 X 6. 50 4. 00 6. 00 1.50 100.0 0.0 0.0 100.0 900. O|HEA A2
0.8 1~ 0.9 0 6. 50 3. 60 1. 50

5 e VLA e T e 2 X 6. 50 5. 40 6. 00 1.50 100.0 0.0 0.0 100. 0 1, 000. O|HEkM:Ak
0.9 0 ~ 1.0 0 6. 50 5. 60 1. 50

1 ] VLA e T P 22 X 6. 50 13. 10 3. 60 1.50 100.0 0.0 0.0 100. 0 1, 100. O|HEkM:Ak
1.0 0 ~ 1.0 100 9.50 7.50 0.75

5 ) VLA e T P 22 X 6. 25 4. 10 3. 10 0.75 100.0 0.0 0.0 100. 0 1, 200. O|HEk Ak
1.0 100 ~ 1.1 60 9.50 4. 50 0.75

5 ] VLA T T P 2 X 6. 50 3.00 5. 30 0.75 100.0 0.0 0.0 100. 0 1, 300. O|HErk Ak
1.1 60 ~ 1.2 60 6. 50 3.00 0.75

5 e VLA T T P 2 X 7.25 3.50 1. 40 0.75 100.0 0.0 0.0 100. 0 1, 400. O|HEkM:AE
1.2 60 ~ 1.3 40 9. 50 3.80 1.55
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18 o] LA o] T 22 [ 9.50 7.80 1.50 1.35 72.6 0.0 27. 4 100. 0 1, 500. O|HE7A PGl
1.3 40 ~ 1.4 47 6. 50 6. 00 1.45

8 [ B A o] T 22 XX 6. 50 3.00 4.50 1.45 100. 0 0.0 0.0 100. 0 1,600. 0|7 2 7 7 /v it
1.4 47 ~ 1.5 40 6. 50 3.50 1.45

o8 o] B A o] T 22 XX 6. 50 5. 60 4.50 0. 60 100. 0 0.0 0.0 100. 0 1,700. 0|7 27 7 /v ik
1.5 40 ~ 1.6 34 6. 50 5. 50 0. 60

18 o] B A o] T 22 [ 6.50 2.90 4.50 0. 60 100. 0 0.0 0.0 100. 0 1, 800. O|HEAK 1 &ttt
1.6 34~ 1.7 40 6. 50 5. 50 0. 60

18 o] B A o] T 22 [ 6. 50 2.80 4.50 0.85 112. 4 0.0 27.6 140. 0 1, 940. O HEA PGl
1.7 40 ~ 1.8 80 6. 50 3. 00 0.85

gt o) VR A [ T e X 6. 50 2.50 4.50 0.75 26. 0 0.0 34.0 60. 0 2, 000. O|HlEzk Mg
1.8 80 ~ 1.9 40 6. 50 4. 00 0.75

et o) VR A [ T P X 6. 50 3. 00 4.50 0.75 100.0 0.0 0.0 100. 0 2, 100. O|HEzk Mg
1.9 40 ~ 2.0 40 6. 50 4. 00 0.75

et o] VLA o T e X 6. 50 3.20 4.50 0.75 74.9 0.0 25. 1 100. 0 2, 200. 0| Bk A2
2.0 40 ~ 2.1 40 6. 50 3.00 0.75

et o] VLA o T e X 6. 50 3.00 4.50 1.45 66. 0 0.0 34.0 100. 0 2, 300. 0| HE/k A2
2.1 40 ~ 2.2 40 6. 50 3.00 1.45

et o] VLA o] T e X 6. 50 4. 50 4.50 1. 40 100. 0 0.0 0.0 100. 0 2, 400. 0| Bk MEAf2E
2.2 40 ~ 2.3 40 6. 50 3.00 0. 50

et o] VLA o] T e X 6. 50 3.20 4.50 1. 30 104. 1 0.0 35.9 140. 0 2, 540. 0| Bk &2
2.3 40 ~ 2.4 80 6. 50 3.20 1.35

& i) bR H T 9.75 7.00 1.50 1. 00 60. 0 0.0 0.0 60. 0 2, 600. 0| HlE/k A2
2.4 80 ~ 2.5 36 6. 50 5.30 1. 20

& e R H T 6. 50 5. 30 3. 00 1. 00 100.0 0.0 0.0 100. 0 2, 700. O| ek P& %E
2.5 36 ~ 2.6 49 9.75 8.50 1. 00

& e R B T 9. 50 6. 50 3. 00 0.75 100.0 0.0 0.0 100. 0 2, 800. 0|7k PEA%E
2.6 49 ~ 2.7 80 6. 50 6. 50 0.75
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fa@ il bR H T 6. 50 6. 50 3. 00 0.75 100.0 0.0 0.0 100. 0 2, 900. O|HEzk Mg
2.7 80 ~ 2.8 80 9. 50 6. 50 0.75

&l bR H T 6. 50 6. 50 6. 00 0.75 87.0 0.0 0.0 87.0 2, 987. O|HEak P
2.8 80 ~ 2.9 67 6. 50 6. 50 0.75

et o) VR A [ T P X 6. 50 6. 50 6. 00 0.75 109.0 0.0 4.0 113.0 3, 100. O|HEzk P
2.9 67 ~ 3.0 80 6. 50 6. 50 0.75

gt o) VR A [ T e X 6. 50 6. 50 3. 00 0.75 100.0 0.0 0.0 100. 0 3, 200. O|HEzk Mg
3.0 80 ~ 3.1 80 6. 50 6. 50 0.75

et o) VLA [ T e X 6. 50 6. 50 6. 00 0.75 100.0 0.0 0.0 100. 0 3, 300. O|HErk Mg
3.1 80 ~ 3.2 80 6. 50 6. 60 0.75

gt o) VR A [ T e X 6. 50 6. 50 6. 00 0.75 100.0 0.0 0.0 100. 0 3, 400. 0|7k P
3.2 80 ~ 3.3 80 6. 50 6. 60 0.75

et o) VR A [ T P X 6. 50 6. 40 3. 00 0.75 100.0 0.0 0.0 100. 0 3, 500. O|HEzk PEA:
3.3 80 ~ 3.4 713 9.75 6. 60 0.75

et o] VLA o T e X 9.50 6. 40 3. 00 0.75 100. 0 0.0 0.0 100. 0 3, 600. 0| Pk A2
3.4 73 ~ 3.5 87 6. 50 6. 60 0.75

et o] VLA o T e X 6. 50 7.50 6. 00 0.75 100. 0 0.0 0.0 100. 0 3, 700. 0| Hlsk ME&f2E
3.5 87 ~ 3.6 83 6. 50 6. 60 0.75

et o] VLA o] T e X 6. 50 6. 50 6. 00 0.75 100. 0 0.0 0.0 100. 0 3, 800. 0| HlE/k A2
3.6 83 ~ 3.7 80 6. 50 6. 50 0.75

et o] VLA o] T e X 6. 50 6. 50 3. 00 0.75 95.8 0.0 4.2 100. 0 3, 900. 0| HlE/k A2
3.7 80 ~ 3.8 80 9. 50 6. 60 0.75

et o] VLA o T e X 9.50 4. 50 3. 00 0.75 100. 0 0.0 0.0 100. 0 4, 000. 0| HE/k A2
3.8 80 ~ 3.9 79 6.75 5.10 0.75

et o] VLA o] T e X 6. 50 6. 60 1.50 0.55 32.5 0.0 67.5 100. 0 4, 100. 0| HlE/k &2
3.9 79 ~ 4.1 1 9. 50 6. 50 0.55

et o] VLA o] T e X 6. 50 3.40 0. 00 2.20 32.5 0.0 67.5 100. 0 4, 200. 0| Bk &2
4.1 1~ 4.2 8 6. 50 3. 40 2.20
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gt o) VR A [ T P X 6. 25 3. 40 4. 40 1.20 100.0 0.0 0.0 100. 0 4, 300. O|HEzk Mg
4.2 8 ~ 4.3 15 6. 50 3. 00 1. 20
et o) VR A [ T P X 6. 50 3.50 1.50 0.85 100.0 0.0 0.0 100. 0 4, 400. 0|7k Mg
4.3 15 ~ 4.4 15 9. 50 4. 40 0.85
et o) VR A [ T P X 9. 50 6. 00 3. 00 1.00 97.1 0.0 2.9 100. 0 4,500. 0|7 A 7 7 /L [
4.4 15 ~ 4.5 17 6. 50 8. 40 1.00
gt o) VR A [ T e X 6. 50 6. 40 3. 00 1.00 100.0 0.0 0.0 100. 0 4, 600. 0|7k Mg
4.5 17 ~ 4.6 20 9. 50 6. 50 1. 00
et o) VLA [ T e X 9. 50 6.30 3. 00 0.50 100.0 0.0 0.0 100. 0 4, 700. 0|7k Mg
4.6 20 ~ 4.7 24 6. 50 8. 40 1.00
gt o) VR A [ T e X 6. 50 6. 60 6. 00 1.00 100.0 0.0 0.0 100. 0 4, 800. OBk P
4.7 24 ~ 4.8 5 6. 50 8.50 1. 00
et o) VR A [ T P X 6. 50 6.70 4.70 0.75 100.0 0.0 0.0 100. 0 4, 900. 0|7k Mg
4.8 5 ~ 4.9 8 6. 50 11.10 1. 00
et o] VLA o T e X 9.50 6. 80 1.50 0. 60 100. 0 0.0 0.0 100. 0 5, 000. 0| HlE/k &2
4.9 8 ~ 5.0 0 6. 50 3.30 0. 00
et o] VLA o T e X 6. 50 6. 70 4.50 1. 00 100. 0 0.0 0.0 100. 0 5, 100. 0| Hl/k &2
5.0 0 ~ 5.1 0 6.25 6. 60 0. 65
et o] VLA o] T e X 6. 50 6. 60 5. 60 0. 60 100. 0 0.0 0.0 100. 0 5,200. 0|7 A 7 7 /L afiLE
5.1 0 ~ 5.2 0 6. 50 7.10 0. 60
et o] VLA o] T e X 9. 50 4. 00 3. 00 0. 60 100. 0 0.0 0.0 100. 0 5,300. 0|7 A 7 7 /L %L
5.2 0 ~ 5.3 0 6. 50 7.20 0. 60
et o] VLA o T e X 6. 50 4. 10 6. 00 1.55| —259.0 0.0 359.0 100. 0 5,400. 0|7 A 7 7 /L %L
5.3 0 ~ 5. 4 0 6. 50 4. 40 1.55
et o] VLA o] T e X 6. 50 3.90 0. 00 2.50] -259.1 0.0 359. 1 100. 0 5, 500. 0| HlE/k &2
5. 4 0 ~ 5.5 0 6. 50 3.80 2.50
et o] VLA o] T e X 6. 50 3.90 0. 00 2. 50 100. 0 0.0 0.0 100. 0 5, 600. 0| HlE/k &2
5.5 0 ~ 5.6 0 6. 50 3.80 2.50
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gt o) VR A [ T P X 6. 50 3.90 0. 00 2. 50 100.0 0.0 0.0 100. 0 5, 700. O|HEzk PEA:
5.6 0 ~ 5.7 0 6. 50 3.90 2.50

et o) VR A [ T P X 6. 50 8. 00 6. 00 1.50 100.0 0.0 0.0 100. 0 5, 800. O|HEzk PA:
5.7 0 ~ 5.8 0 6. 50 7.90 0.75

et o) VR A [ T P X 6. 50 9. 00 3. 00 1.45 100.0 0.0 0.0 100. 0 5, 900. O|HlEzk P
5.8 0 ~ 5.9 0 9. 50 8. 60 0.85

gt o) VR A [ T e X 6. 50 4. 00 6. 00 0.75 79. 2 0.0 20. 8 100. 0 6, 000. O|HlEzKk PEA:
5.9 0 ~ 6.0 0 6. 50 4. 00 0. 80

et o) VLA [ T e X 6. 50 4. 00 6. 00 0.75 100.0 0.0 0.0 100. 0 6, 100. O|HEzKk PEA:
6.0 0 ~ 6.1 0 6. 50 6. 90 0.75

gt o) VR A [ T e X 6. 50 7.60 3. 00 1.50 100.0 0.0 0.0 100. 0 6, 200. 0|7k P
6.1 0 ~ 6.2 0 9. 50 6. 90 0.85

et o) VR A [ T P X 9.75 7. 00 3. 00 1.25 91.5 0.0 8.5 100. 0 6, 300. OBk PEA:
6.2 0 ~ 6.3 0 6. 50 7.30 0.85

et o] VLA o T e X 6. 50 7.90 6. 10 1. 50 100. 0 0.0 0.0 100. 0 6, 400. 0| Hl/k &2
6.3 0 ~ 6. 4 0 6. 50 6. 50 0.75

et o] VLA o T e X 7. 00 8. 00 3. 00 1. 00 100. 0 0.0 0.0 100. 0 6, 500. 0| Hl/k &%
6. 4 0 ~ 6.5 0 9. 50 7.00 0.75

et o] VLA o] T e X 6. 50 7.00 3. 00 1. 00 100. 0 0.0 0.0 100. 0 6, 600. 0| HlE/k A2
6.5 0 ~ 6.5 100 9.50 7.10 1. 00

et o] VLA o] T e X 6. 50 6. 60 6. 00 1. 00 100. 0 0.0 0.0 100. 0 6, 700. 0| HlE/k &2
6.5 100 ~ 6.7 3 6. 50 6. 60 1. 00

et o] VLA o T e X 6. 50 6. 40 6. 00 1. 00 100. 0 0.0 0.0 100. 0 6, 800. 0| HlE/k &%
6.7 3 ~ 6.8 0 6. 50 6. 50 1. 00

et o] VLA o] T e X 6. 50 8. 40 3. 00 0.85 100. 0 0.0 0.0 100. 0 6, 900. 0| Hl/k &2
6.8 0 ~ 6.8 100 9. 50 6. 50 1. 50

et o] VLA o] T e X 6. 50 3.50 6. 00 0.75 100. 0 0.0 0.0 100. 0 7, 000. O| ek &%
6.8 100 ~ 7.0 0 9.50 6. 50 0.55
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gt o) VR A [ T P X 6. 50 3.70 6. 00 0.75 100.0 0.0 0.0 100. 0 7, 100. 0| Pk Meaits
7.0 0 ~ 7.1 0 9. 50 6. 40 0.55

et o) VR A [ T P X 9. 50 7.00 3. 00 0.75 100.0 0.0 0.0 100. 0 7, 200. 0| Pk Mafids
7.1 0 ~ 7.2 0 6. 50 7.10 0.75

et o) VR A [ T P X 9. 50 6. 50 3. 00 0.75 100.0 0.0 0.0 100. 0 7, 300. 0| Pk Meaids
7.2 0 ~ 7.3 0 6. 50 6. 40 0.75

gt o) VR A [ T e X 6. 50 4. 00 6. 00 0.75 100.0 0.0 0.0 100. 0 7, 400. 0| Ak Meaids
7.3 0 ~ 7.4 0 6. 50 6. 50 0.75

et o) VLA [ T e X 9. 50 6. 90 3. 00 0.75 100.0 0.0 0.0 100. 0 7, 500. 0| Pk Meaids
7.4 0 ~ 7.5 0 6. 50 8.20 0.75

gt o) VR A [ T e X 6. 50 6.70 6. 00 0.75 100.0 0.0 0.0 100. 0 7, 600. 0| Pk MEafids
7.5 0 ~ 7.6 0 6. 50 6. 80 0.75

et o) VR A [ T P X 6. 50 6. 50 6. 00 0.75 100.0 0.0 0.0 100. 0 7, 700. 0|k MEaids
7.6 0 ~ 7.7 0 6. 50 7.00 0.75

et o] VLA o T e X 6. 50 6. 00 6. 00 0.75 100. 0 0.0 0.0 100. 0 7, 800. O| Pk &%
7.7 0 ~ 7.8 5 6. 50 6. 50 0.75

et o] VLA o T e X 6. 50 6. 40 3. 00 0.75 100. 0 0.0 0.0 100. 0 7,900. O| ek Mg
7.8 5 ~ 7.8 105 9. 50 7.00 0.75

et o] VLA o] T e X 9.50 9. 00 3. 00 1. 00 100. 0 0.0 0.0 100. 0 8, 000. 0| sk &%
7.8 105 ~ 8.0 0 6. 50 9. 00 0.75

et o] VLA o] T e X 6. 50 9. 00 6. 00 1. 00 109. 5 0.0 25.5 135.0 8, 135. 0| B /K MEAi%:
8.0 0 ~ 8.1 35 6. 50 7.00 0.75

et o) YR o T 4 X 6. 50 6. 90 3. 00 1. 00 65. 0 0.0 0.0 65. 0 8, 200. 0| HlE/k &2
8.1 35 ~ 8.2 0 9. 50 5. 40 0.75

et o) YR o] T 4 X 9.50 4.30 3. 00 1. 00 91.6 0.0 8.4 100. 0 8, 300. 0| Hl/k A%
8.2 0 ~ 8.3 0 6. 50 4.10 0.75

et o) YR o] T A X 6. 50 9. 40 3. 00 1. 00 100. 0 0.0 0.0 100. 0 8, 400. 0| HlE/k &2
8.3 0 ~ 8. 4 0 9.25 4.30 1. 00
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gt ) VR o) T A R X 6. 50 3.70 4.50 0. 65 100. 0 0.0 0.0 100. 0 8,500. 0|7 A 7 7 /L [k
8. 4 0 ~ 8.5 0 6. 50 4.30 0. 65

gt o) VR o) T A R X 6. 25 4. 00 4.60 0. 65 60. 0 0.0 40. 0 100. 0 8,600. 0|7 A 7 7 /L [fidk
8.5 0 ~ 8.6 0 6. 50 3.50 0. 00

gt o) VR o] T A R X 6. 25 3.50 3. 00 0. 00 100. 0 0.0 0.0 100. 0 8,700. 0|7 A 7 7 /L [k
8.6 0 ~ 8.6 100 9. 00 5.10 0. 60

gt ) VR o] T A R X 9. 50 6. 80 4.80 0. 60 100. 0 0.0 0.0 100. 0 8,800. 0|7 A 7 7 /L [k
8.6 100 ~ 8.7 91 6. 50 5.70 0. 60

et o) VR o) T A R X 9. 50 6. 40 3. 40 0.55 92. 2 0.0 7.8 100. 0 8,900. 0|7 A 7 7 /L [k
8.7 91 ~ 8.9 19 9. 50 7.40 0. 60

gt o) VR o] T A R X 9. 50 3.70 3.70 1.00 100.0 0.0 0.0 100. 0 9, 000. O|HE7Kk PEA:
8.9 19 ~ 9.0 6 6. 50 8.50 1. 00

et o) VR o] T A R X 6. 50 4. 60 4.50 0. 00 100. 0 0.0 0.0 100. 0 9,100. 0|7 & 7 7 /L [
9.0 6 ~ 9.0 106 6. 50 2. 40 0. 00

et o) YR o] T A X 6. 50 4. 00 4.50 0.75 100. 0 0.0 0.0 100. 0 9,200.0|7 A7 7 /L %L
9.0 106 ~ 9.2 8 6. 50 3. 60 0.75

et o) YR o] T A X 6. 50 3.50 5. 30 0.75 100. 0 0.0 0.0 100. 0 9,300.0|7 A7 7 /L MaiLE
9.2 8 ~ 9.3 9 6. 50 3.00 0.75

et o) YR o] T A X 6. 50 6. 20 1.00 0.75 100. 0 0.0 0.0 100. 0 9,400. 0|7 A 7 7 /L %L
9.3 9 ~ 9.3 109 9.50 8.30 0.75

et o) YR o] T A X 9. 50 3.70 1.00 0.75 100. 0 0.0 0.0 100. 0 9,500. 0|7 A 7 7 /L %L
9.3 109 ~ 9.5 10 6. 50 11.70 0.75

et o) YR o T 4 X 6. 50 7.20 4.00 0.75 100. 0 0.0 0.0 100. 0 9,600. 0|7 A 7 7 /L %L
9.5 10 ~ 9.6 6 6. 50 5.70 0.75

et o) YR o] T 4 X 6. 50 12. 10 1.00 0.75 30.0 0.0 0.0 30.0 9,630.0|7 A 7 7 /L MafiLE
9.6 6 ~ 9.6 36 9. 50 9. 00 0.75

et o) YR o] T A X 6. 50 3.50 4.50 1.00 211.0 0.0 0.0 211.0 9,841.0|7 A 7 7 /L MLk
9.6 36 ~ 9.8 30 6. 50 3.00 1. 00
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gt ) VR o) T A R X 6. 50 3. 00 4.50 1.00 202. 1 0.0 8.9 211.0] 10, 052. O|HEA MGkt
9.8 30 ~ 10.0 25 6. 50 3.00 1.00

gt o) VR o) T A R X 6. 50 3.00 4.50 1.00 215.0 0.0 0.0 215.0] 10, 267. O|HEA MGk
10.0 25 ~ 10.2 37 6. 50 3.50 1.00

gt o) VR o] T A R X 6. 50 4.20 22. 20 0.60[ -807.0 870.0 0.0 63.0| 10, 330. 0| Pk M:Aids
10.2 37 ~ 10. 3 0 6. 50 4. 60 0. 60
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